
i$ '',,t

to:
?4

umuLnnLd bd.
apc

ur2nrf|JuU

201 9p.fruf pd2luitluL lbtrLnpnL> eFC
En rtrbn Lplr.utr hur dup
bpf qlutr

$ frti urtr u u {n p rlutr ur rp1 n rp p' q brn ur [1 utr q u ur {bp h

qLnhuLbnh
<9npJrulr pd2!ruQurtr tlbtrmpntr> OFC-[ pr[ulutrfr trufubulqrutr

LUL

9U rJutr tunup 11 ulfr uL Lltutr n rdp
CLqurLIbLp

qnLLLupp

huq.qpud)

upfrnrtllr plnnhn 0,9% 1000il

Luurnhnuilr p[nFh4 0,9% 100il

33691136

55b9r J.5b

J50yL I50 np[4 0,9% 5,0d

ttlI plnpfr4 0,9% 500il

npfi4 10,0% 50ri

Ub$ 10Uo/1rl

tr 10% 1-p trbnurnhtlurLr hrurlur
Upnrglr4 u\hur\urpfrl

nul hhnnonuhn+

Uil|rhru\urqpnhurppnr 5Oilq/rf1 ptEnrlp
hhprupl;tiurh huilrun

U{hnr}upl-r 50rIq/LI1 L-p trhnurn! rftuh hullur

Uhnr-2ur4plr uqhpn

Uilnpuurclrrhh l

33691136

3369122!

3365 1125

5505 I IZ)

3365 1 125

33691121

3369!12L

33691721,

3369 1 185

33611110

33611240

33671.125

33671.125

13621 160

3362 1390

13621390

]362!740

)3621740

1369 1 176

1365 1111

1355 1 111



A

33691,176 l?In n rrr X

33691 176
q< num 660

QN+<

g<
huru

huun
3363 1290

33631290
1 000

q<
h uJLn 500

3363 1290 hpnLqp$hh oZrulurll 20tlq/r.f L q< num 100
3363 1290 npnLulpn}bh o2upru[ 4Oilq/rft g< nulm 100
33621_370 lg.utttphrt 4frh[urpuur 20rlo hhnu r h o r] r r r r h I r n /h q< hu.rtn 200
3362!370 hqnunpplr4 rlntrnLhunuln 60r tn n/h q< hum 300
33661 1 10 hqnQprpurh 250rll g< nuu 25
3369L 176 hL+nrfhr.nruohhh rln tlhh c< huun 200
3367!t!2 rqpunpnqfrnLrlfr ppnrifra + SbLrnurbnnr 20rilrn+(o, il,. .1. q<

huuLn 100
3361 1 180 I.u\unrlnqur 667tiq/dt q< nuu AA
33642230 l-Unpf popufrtr 1 00rILq n/hurn +< nulm 1 000
33642230 I.LnphnopuhLr 50il\q dhLup T( num 500
33642230 I-bnpfrpopulrtr 7 5ilb q q/hurn +< num 500
33642230 l-hnQlnpuurgfrL 500tlq ry'hun +< hurm 100
??6A1 1 0.)

![r1n\u1frh + hur hbhgnhL 1aT\ hr.r.rLn 100
33661 116 I-Fr1n\u.;frh 1 OOrlq/dr qnourohn q< hum '10

5500 l L lb tltln\ulfL 2Oilq/ilr r-B hbnLunLrlurh hrrnI g< hurn 1 000
3369 12 13 -frLhpu n/uluuhd g< nurLn ozvu
3369 1203 -nquprnruh + Zhrlnnptnnnhuchn 1 O0r[n+25rfn ./h g< huLn 500
33691203 Lnqurprnurtr + Zhqnnptnnrahurchn SO{o+'12 5rfn n/h o-/ nurLn 500
3369 1203

33691203

Lnquprnruh l 00rJq n/hup

-

I-nqurlururLr 50rlq r/hrup

g< hrrm 400
q< num 200

33611200 t-nq hpurtllrn 2rlq r/hun q< hulun JUU
3367113 1 Lnpurnur4frh 'l Oriq dhrur

-

Lnpuurur4frh l rfq/ilr orurnurL

q<
hr.r.r un 300

33671 13 1 c< hruun 200
33611360

3369 1 203

33691231

pL4nrLrluh hrurJup g< huLn 200
.iuuinr_uF pLnFF4b 4 % L_fd LhlurFUilruh huliurp q< nuru 100
9ruLghntil + lunth\tufghghpnl 500rlq+ 1OilL q n/hurn o-/ num 7000

3361L420

33671 135

9ulghnulh qunr\nhuln 1 OOdq/rii uprlur\ o-a nuu 500
qurlgbnrilh pLnnb+ 10% SrIL

Qurqunqplrl 25rJq n/hurn

-

q< num CU
362 15 10 q<

hLuLn 2000
502Iftu

trtr^
9uqnnqpfrl 50ilq n/hrun g< nuu

1 000
9uqnnghnh t-p 947dqlill + 24riqlilt
9 uru rlrulunrnh hruhnr-I1

q< nu/m 3
)3661_t!7 g< num 6000
3661133 '{tuPFFr}nulur+LLn4nu|u 250ilq+2Silq q< num 200
362 1690 tlurnqh+FLnL 2Sdq l/hurp

9uprlh+htnL 1 2,Srlq +/hup
9trn ullfrh 500tlq/ 1 Oilr

-

q< hum 1 000
t3621690 q< huun 1000
3661111 g< num 5U

r3631300

r3631300

363 1300

369 1 176

LIuulnulFnQbh 50ilq ryulrutrlbd q< hum 200
.{ unnulFn}hL 5Orlq/ill uprlu\
thurnulpnbhh punrp

-

g< huLn
1 000

g< num 50
ehnnlnluh 0,5% urUnu\urplrl q< num '18
.rutnnpnlu\ 3Oilq/rfl Lp LhFupUrlub hruilurp o-a num 100



6

33661115 thnnltt'r,hl, cn,l

3365 1 129

r r -f 
-Jl.s 

vvqY/ rvuL

QiupirBpnrlhahh 500rfn n/h,,,-

O-/ hurur 100

100
g< nu.lm33621140

Vnp{u;n;

2urtrlhrh hrubnrb

lh4pnUnntnfrqnhh 1 Yoounr n

O-/
hurun

33651148 2000
g<

't<

*

hruun

nuu
3362 1330 30

33621 ?nn 500

NUJLN 10033621340
g<

q<
nulLn

hu.run

300033691176

3365 1 191 50
q< nuJm 63305 I262 q<

+<

nu/m

hurur

2003362 1 100

3362 1 100 50
q< num

1 50033621,640
g< huur ZU3362 1s80
+< hum 500

300

33691176
hum

33691 176
'f (- num

33691816 Utuqhh 86

JugbhqlinLilfr uuuunqhLuu. .. + Lutlnr Lfh ruurl 10rr,

-t( hu.run
336912 18

+< nuul 120C33691145 u tuquhufnrdh unrl$urur unrlu_rb T\ nuLn 1 00003362 16 10 \a nulu 300

336611s9
T\ nuu

nLUm 10033621490

33642220
I< nuu 100

f< num zvu
z.+ u hpnulhpururn 1 Oriq 4/hurF lq< huLn

33621190

3366t1,27

13661125

hr.um 50

num 200

h ppnrlfrrl

-t< huin 12000

rt<
hu.rm 2000

500 J.I t5
o-a

huuLn 200

13621700
q< num s00
g<

hr.uun 500
q< num 300

369trt2
q< hurn i3000
g< nuLn 30036971,12
q<

h r.u ur 500uurinuPrlurqnl bdq/ill h/h [_p o-/
N|.ULN 4000

" uur.fulru|u tuuuuq r)/hruP

Jhpnqhhnil 'l Oql lhlurrtrnZh
-If4ruqnlurd Sdo/rfi

-Ihqnulpnurnnl 200r_t\q r/hruF

-Ih\nhurqnth trhurlunn rlnri

q<

q<
hr.uLn 100

nu.lLn 10

3641200
q<

g<

q<

num

nuitn

250

100

NUJLN 100.l,,.yuuurulrrru zuUUq hbo. q< huLn zw



o

3364L2t0 Lrlrbhulllrurnnh 20OrJq +/hurp
336422s0

q< huLn 50

200
u nhurhlnr\ururn Srlq rl/hruF

tlnp$frlr 1%1 ,0,J1 l-ra htnrrrntrrtrrrtr hrr,,f

c< nuJm
3366 1120 q<

hr.uLn s00
33661 120 Unnghh -t( nu/m 100
3365 1 139 Llnpuhblnpuurghtr 0, 5% iuUlu!*fuhL g< nulu 18??6ql 1 ?o

3365 1139

ilnpuh$LnpuugFtr 400tiq q/hup q< huJm 100
u npuh$Lnpurughh 4OOriq /2509 t-p trhnurnbrlurh hu g<

q<
N|'ULN 100

33691,223 Lurlpnqurpfrh 0,3ilr t-ra hhnurnbrfrrrh hrrrrf num 300
336911_44 t uurpf nrilf phnunrt gutn o,a huur

1 000
??Aq1 1 lq t,ururplrnrdfr phh tu nrntrur v g. 4%2o.i q< nuu 20
33661,147 LLnunfqdirh 0,05 % 1-p LrhpunLduh hr.urJ q<

NULN 1 000
33611,220 t ![pFIl pb4nrhilurh qnul]tnuburLohhr rrrnh. .l_- q< hu.rtn qn
33691L76 l-hpnulurU L0r.fq/rf t t -n htnurnb rJurh hrr r r f o-/

hLuLn 4o
3361 1380 Lf \nurirtruppnr 1,Orlt r-ra hhnunbrlur h hrrrr f o-/ nuLn 100
3365 1 L49 Llruurulnf h 4/hurp 500000tI q< hum 500
33621360 t fupnq$gtpfrb 5riq/rf1 r-B trhnunLilurL hrrrrf q< nuLn 700
33621750 uh$hthqhL lOriq ilhurr o-/ hu-rm 2000
3365 1280 t fr$nrpopuruqir4 100rlo n/hurn +< nurm 1 000
3365 1280 [Snrpopuurqfrl o2urpur! 't< hum JU
3365 1280 ,f pntpopuuq fra 2OOrlc/rlr orunurL T\ hum 2n
33691 176 Lpuqf 4f l [L Sdq/r.tr r -B 1-r LnurnL r-furfi h rrr r f 1a

N|'ULN 500
3361 1150 urh\irbuurhh 300ilq dquurhd T\ N|'uLN 1 000
336r!470 )r.uhrnnq pu:qnt 20rlq n/h111n T< NttlLN 500
33611470 luLrnnulpruqnl 40rlq r/hruF lg< hurun

nuLn

500
33611470 'Il urh u nulFu qn l 4 0 Ltq/ill L-td trhpurplrftutr huLtru n g<

100
3362 1540

33621540

33661.!22

'tluqurlhphh 2% 2,OrjL fp lLhnup\riuh hullup g< nulm 2000
'tluquLlhnhh 20rlq rlnrihb

-

g< nulLn 700
nuDughtnrutlnl 1OOrI1 q< num EA

336611,22 +lurlrughuruljnl 1 O0rIq rlndfr\ q< nulLn 300
33661,!22 'tl uptu ghururlnl 1 50rlq rinrlfr\ q< nuu 300
3366!122 'tlulurghuurlnL 25Orjq rf nrflr\ q< hurm 300
33661_122 'tl uFurghururlnl 500tlq rIlhrup q<

h u-lun 3000
3366t722 't lupughuulrinl 50dq r.Inr.fh \ q< nuLn 300
3667122 tuFurghuruilnt o2urFruh 1 2Orlq/il1 q< nulu 300
3621460 'rlhllru4nutnhl + UiltnlhuthL 1 Orfq+.t Qlq g<

N|'ULN 500
3621460 thnFh+nqlhL + Utlfnrtbulhtr 1 0ilq+5Uq q<

h ur r.n 500
3621460 ''t unFL$ulPbL + Ur-tlnr]Irqlrh Srjq+ 1 Or-tq g< num 500
3621,460 nhrrhhlnulllrL + Uiltnlhqhtr Sdq+Srrq +< nuJm 6nn

|3621530 ' tt unFurlnutFlrl+hLrluqturllrrl 
1 0ilq+2, 5rIq 4/hurp q<

hLuLn 2000
i3621530

't o ll u4nqnFFFhrlurq rurlbl 2ilq+0, 62silq 4/hurE q< nuu
1 000

362 1530 ' tt ult Furl n ull Ir L+hbrl u ul urtf hrl 4rJq + 1, 2 5rfq 4/h u p o-a
hr,uun :2000

3621530 q< num :2000
502 L /b4

tozr/04
q< huun 'r500

I bn hlrr}n ql hL*frLr]u u]urihl+ u,f Lnr]t,qhL 8ilg+2,Silq+Srfq r/h up

q< huLn 12000

q< num 1 500



33691.124 'tlhlurLuhL'l 2Sdq q/hurf

-

'tlhnurLrnhL 250dq dhup
nthn-Su--u zOOuq;;--

3369L124
q<

o,a

^

nurm

nulLn

100

3369 1 186 100

33691 186
hr.uut 6000

-f<

E
q<

hu-rLn

num
33591 1 R6 500

5003?61 1 ?qn

nuu 6n

*
3369 L814 q< nuLn
3363 1230

+<

q<
huLn

h ulur
33661 170

33661170 500

num JOU??6A 1 1 
"^ num 50033691176

q< num 1503366111,2 ,rlur qrrgIrlzuuuq/ zurll g< huun 60033691 133 n uuptupqrlub hrudr.un 2 Orf q<
N|.uLN

1 00033621550 l'tuUnulnhl + urdrnnhuhlr 10rtn+1 O,f O-a huur 300336215s0

33621s50

33621550

3362 1550

' 
iuruFuilftL + u'JLnrlhulbtr 1Orlq+Srlq r/hup g<

nu_.tu] 300
t futunutlFl + urdln4huthL 2,5rlq+5rlg 4/hup q< num 300
tltuuFulFIIL + ulllqhulhh srfq+.1 Orlq 4/hu:p q< hLurn 300
tlutttFqlFL + unfLn+hqhh 5riq+5Uq 4/hurp q< huun 300

J50Z I)bU

33621560

t ruruFutpfr 
L + h h4nnptnpphuiqhl 10riq+ 12, 5ilq q<

h u-rur s00
o-/

hr.uun 500

3369t I 29

g< num 200
o-/

hu.rrn 10003369t | 29 q< huur 8000

365 11s6

tiFprurjqFgFb 1 SOdq l/ulurnFd 't< N|.uLN 500

T( num 3003671.r!3 -\/
hum 200

J tu I tJb ut bl n L + $U n rm h ll uqnL 2S LIllq+S0ill1q 2b2u nrIuL T\ hLuur EA

r3661110

ur.unqFrluhF A tr B 70rlq r/hruF q< num '1000
u urr(lil lrrLlrtuu zcuut

Uf dtulrllnh 40rJq n/hurn

-

q< huun 10
g<

NllJLN 700
O-/ huu 10

rIq/5il1o2upru\ g< nuLn AN

ilq q< hu.ru JUU

.lufrlnL 60rlq l/hurp

o-a nulLn 300

3621.620
g< num 100
o-/ nuul

JO)I15/
1 Ann

q<
N|'uLN 600lAll 17^

q< nuiLn €000
-r u ur r{ upr}pu L_p tr Elpfih lLrlnrhrluh hrurirul
.I,un$urphh 2,Srlq r/hurp

o-/
NULN CU

q< nuim 500
g<

nu_Jtn 100

1621730
q< num

1 000
q<

htuun 5006LL341
q< num 500
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3361 1341 ![rnrutfftr B bnr,Iurhpu hurn -t\

*
hutn

3369 1209 Sullunrlnqhh 0,4ilq r/uluruhd

Surdopuh$hh l 0rIn n/h,,,.,
nuLn 500

100

550) lz5J o-/
hurun

33661 154

-

Shupur \urlirtr urll trurb ruBhi q< num 18
3363 1170 ShurprughUlhh l % urLhurpunr-p o-/

n u_J Ln 10
3363 1170 ShuFurgh\iJrtr 3Oriq/q punrp q< nu/Ln EN
3363 1 120 StpplrhurglrL 1 Orfq/q nnh q< huLn 30
33671,!24 Snppullfrolrtr uL tnuL urnhr 3rfo/r f q< nuLn 60
3363 1380 >nlul ul Fq nb 1 O0dq/rJ[ 

t 
_p ht lrup \riurlr hu r-furn 't<

T<

num 100
33631380 SnlqhpfqnL 1 50rJq ry'hurr num 300
3363 1380 1/

huLn 200
336711,37

h 200
550Y LZ2b Sprurlur4nl S0rlq/dr t-o LhnurnLrfrrl hrrrrf T< nuiLn 600
3369L227 purrlurln; 50rlq nhn u:uruuhd nuLn 500
33691500 Spruhtpuurftuppnr 500rjq n/hurn num 500
33691500 Sp urtrhpururlurppn r- 50ric/rl T\ num 100
3363 1491 5hnfpfqfb 10ttq n/hup +< huun 200
3363 1491 Shufpfq|rL Srfq/rir r-ra hhnphh nhnnrlrlrrrtr h,,,,f q< hur-n 50
3365 1 1 16 3t$urqnLlrtr 1,Oqp qhlurtn2h q< nuLn 200
3365 1 115 lb$uLhpulrL 250rjq dhur q< hurm 800
3365 1115 lh$urLhpuhtr 250riq/5rlt oZurpur\ q< huLn 50
3365 1 1 17 Stlbpulu-f 200rlq dhuf o,/ huu 4n

??4q1117

3365 1 123

Sbblrpullj 20riq/rlL oZrupurtt g< huLn CU

3h$hpuhrf40Oriq +/hup q< hu.rm 6n
SLSnrnurpuhrJ 1,OqF lbqutn2h o-/ nuiul 10c

33651 141

3365 1124

3365 1118

5h$nrnnpuhri 1,0gn ntrlu rlrn2fr q< hLuLn CU

ShSnurqhlhrJ 1,0q1 lhqurtnZlr q< nuLn 50
3h$urFhurpuntr 0, 5q[r 4hrtullrn2fr g< huun 500

3365 1118 3h$urirhurpunL 1,0q1 {h{ul}rn2]r o-/ n 9000

33671118

3365 1134

l36s 1134

f lulqn$lneuurgfrh+rlhpururtu-*qtrt-\tr*ffi1n-
3rfq/dt + l r.fqtUL q< hu-rm OU
Shqpn$tnpurughtr 0, 3% u\hrulluplrl q< hum 100
SbulpngLnpuurghtr 250rlq {hurp q< hulm 2400

3651134 Shqnn$LnpurughL 400rJC20OrJf 1-p hhprup\ilruh hurlurn q< hum 200
1365 1134 ShqnngLnpuughL 50Orlq 4/hup q< nuu 4800
3691!76 Sfruulnpu I nrnhnrd q< hur Ln 160
505 I L55 PLnlurJQhhhllnL punLp o-/

hu.rr,n 300
13691236 Plnln qhf urjhhh hh4nnpl nf frrl 20rIq/rj1 o-/ hwm

1 000
t3691236

i3671.t16

i3651192

3611100

PLnnnqhnurlhhh hhrynpLnlhl 2Srlq r1/hup q< nuLn
1 000

€uhLnrihnruqnt htr O, 1% ppruhrupfrflihp q<
NWLN 50

Jdl uln$rlur Lhtrtn hurhrupnLtt: q< nuu 4
Oilhulluqnl 2OrJq 4/ululnhd
OhrltuhuhurFnl-r 2 rJdrJt f fu

q< hum :2000
3611140

3671t29
q< num 40

urnF [uriFh u\urtrlh \urplrL q< nuLn 20
..tunluiqFL 5d[ ru\urhZh \urFlrL q< num 12
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33 64 1 100

/r-tl [-p trhFunllrlurh hurrftul

n /h r"-

o-/

't<

nuLn

nuJm

40003361 1120

33611 120 600
g< huun

1 00033661 1 14 $htlnutrfrl 2ri1

SflnnrihhurafunLr 2rlq 0, 2dr

q< huu 800
3362 1L50 g<

N|'ULN 6s0??4O111') Pl*ql, g< huun 10
3365 1150 b1nr\nhruqn1 1 50riq n/rutuurhd g< num 100
3365 1 150 rUnLqnur.uqnt 50ilq ry'ur ulnhd q< nu/m 50
33691176 blnrngfLnlnh urqtunLhnh punro 25rI q< hum zv
3362t230 SnlupBnr 1ilo

$nlurppnr Sriq n/hurn

$nu$tullnrqhl nntrnnn

-

q< nuLn 5UL
33621230 g< nuul '1000
550y11- /b

33671,129
g< num 300

bnrprulqf h urll urLlurL runht nuLn 20
3362 L590 bnrlnuhrllr4 1 Oriq/rJr t-B LtnruntrrJurh hrrrr f q< nuul 4000??6ql 1 ?o 9fo{r:lttt lutnurhrnr-B 1 0r -t'r NtULN 900
3369 1 139 qFnlnuurppqh 

luuuLrJnrp 50% 1.101 q<

q<
hum qn

3369 1 139

3363 1240

lhilLruthh luururhlntplr purppnh2

-

hruur 3800
PLnnhbpuh+htr 0.5% uqhpLnLu.yfrL 1 p g< nuLn s00

33691 1s3 :urp[rnLd[r unLl$urn I 00q g< huLn 1000
3363 1260 3nrlh nqbpnLnLl 5% 30d1 g< huLn 200
33691 170 uuunrquq 350 - 100d1

Y( huuur 100
33691 176 rrpqurunlF 1-p t{J|d1

num 300
33691859 tlr.uthnLdh qbnduLquLurm 39. unrqh 100

F- d2 11 ru L1 u tr tr 2 u.rL u U n LB r ur tr Lu u.r n u L oL h

331 41 21 1

33 15 1280

ququr:hh rlhfrlnLbh: nuu 1

trurl Qnqh uqurpruurh pp{urbtrh rnrlh:

trurFllnqlr uruiluFruurh hnuph un[r2

\.T\ nuLn 2
33141211

33141211
nuu

UlrqqruFugr.[urh uurpph ur4unpphh n  ,5! q q< nuLn
33141211

33141144

33141145

Uuhn 21 G

g< nun

c< nuLn 113000
UuhrlnqhnuthrFulhtr 22 G euincke 120 ilil q< NULN 2C

3141145 Uuhrl n{hnuthlur:hli 23G q<
N|.ULN 20Q

)3141145 Uuhrl nrlhnr-rlhrFujfrh 25G q< num 500
131 41 1 49

)3141149

Uuhrl $huurnr-LtuJhb 16G bntu\*:hl, q< num 3800
uuhq )FunnrlruJhL 16G quntthFru\urlfrh q< hurn 3800

3141149 Uu hq ghutnnrlrulhb 17G bpurl.lulfrtr q< hurm 150
13141149 uuhrl $hunnrl ruJhh lTG qrun\tpu\ rulfrh g< nuu 150
i3141149 Uuhl $hurnntlruJhtr 18 G bpru\rulirtr o-a nuut 150
3141149 Uuhrl $hunnrttuJhh lsG qrunLhpur\urlfrh q< hu.rm

hr.uu

150
q<

3181100

3181100

L50
1ttuulqurunn Z1H q< num 3800

o-/ nuln 3800
3141131 q< huur 20

L Dururdduruu uunph tunrlnqruu g<
h ulr-n 600
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331 21 21 1 lel'hL q< hur,n 5000
331 41 21 1 trur\urhplrurt $ht rnn urnhhuurr r lr rrr lr ol,. h,,,, I g< hum 100

1,200

331 41 21 5 g<
Uq

331 41 1 33

331 41 I 33

q< nuJm s000
g<

g<
hr,um s000

331 4t 1 60 ahl OheZ htnurqnnnr rarurb hullur nuLn 1000
33141211 +fru hQnLnqhLullurh hurlhfr q< hurur 2000
331 41 21 1 lf hh\n1 nqflu\ urh hnhhnn ti ohurL g< huun 2000
331 41 1 33 Qfquru\ruq 2.5*20utl q< nuLn 400
33141211 1$*p\ pd2\ u\ urh rfhr.uhqru ilrtu g< hr.um 5000
33141211 Qgnr!nrlhtnp q< num 5
33141211 l gnr-\nr.tttnph urnn hur g< hu-rm 300
33141129 ]It.i*\ 2hyur\urh q< nun 2000
33141 1 36 Qlp'ururhpurh utf hh ! urBhr.ntn Y( N|'uLN 10

33141211
fLanghpqh\ur1 |unqruhur\ puntp r{hpgtrhpt
nululun +< N|.uLN 2000

331 41 21 1

\ u = qluqurlrrrrlutrF uEorunluulutfr rlfrurbr{uq
oquuqnFbriurh hrutlup 1aT\ hr"ur,n 2000

33r41114 @-lrqhS -t< hu.rr-n 1.5000
331 41 1 38 Op{urbhru:hh l] ruhJnLUur 4}niru\n{ r-tuhhurhruh +< nuLn 5
331 41 1 3B (}p{urbhu:hh 

b uliJnl1ur a}liur\nrl rlhburhruuurtrh I C< nuu 30
331 41 21 1 fahdruhhtrlhuthnrnhpprulluphr.nhp22-26Fr tq< num 5
33141211 hhlh hruu nfr Utnbnh\nb ur t2 toC g< nurLn 1000
33141178 hh$nrqhntr hru dru hrulq q< hrltn 12000

331 21 1 B0

., ugn'.qpn u rlnF rr EFluIr Qtluh huttur\urpq
blrL."n".l g< nuLn 150

33141211 I-LunhbqhruL lhtftu\ Na-N5 q< NtULN 10
33141211 I.unhtrqhruL hnq".lur\tr hur{ -nr- q< nuLn 3
33141211 I--ph uhtlh> 500il1-fr hulftup o-a nulLn 2
331 41 1 38

331 41 1 38

9urhjnruur ppr.lurbl.luJhh rlurh\ru\ urtr q< huu 50
9rutrlntu ur pprl urbtrruJhh rihburhuruurLl |r g< N|'uLN 100

331 41 1 36 Vururhurp h/t 14 c q< hLur,n 200
33141 1 36

33141 1 36

Vrurnhrnp h/h fO C q< nuru 200
Qrutnhr.np h/h 18G o-/ huLn 1000

331 41 1 36 lrruurhr.np b/h 20 G

9runrhurp lrlh 22 G

q< hLum 5000
331 41 1 36 q< hu.rm 5000
3141136 9rurnhtnp U/h24 G q< nuJm :3500
3141140 9ururhuF $nlh hnudlnq 1g Fr q< hr.utn 700

\3141140 9rutnhr.nF $nth hnrudJnr_rl 20 Fr +< num 370

'Jr 
41140 9ruurhrnp $n;h hnurdrn tn 22 Fr q< huru 20

3141140 9ulnhrnp Sntb hnhdrnr_n 14 Fr g< huun 500
3141140 9uuhup Snth hnhdrnrn L6Fr o-/ nun 50
3141140 9rurnhrnF SnLh hF\dtnul 18 Fr q< nuLn :r000

t3141140 9ruurhup $ntb hnLdrnr_n 8 Fr g< hr.uur 30
3141121 .{ulrupbL 

:Lbpbbqnrl 3.0 g< num 30
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33141121 9urJrurpblu{Fnlhh 5.0 q<

q<
huru r20

s3141121 9urpruphlrlhtrnhr O
hurm 500

33141121 9urprupbl rlhbnhr r q< hLuLn 1500
33141121 9rupurphl rlhlrnhr Z Q_/ huLn 2000
33141121 9rupurphl rlh\nhr S o-/

Nll.,lLN 1000
331 41 1 21 .t*f'*fotL rlhl.1phr 3,0 o-/ nutu 500
331 41 1 21 ttrunruphL 

QIr\nhf a.0 g< hum 500
33141121 \urluphl{hllphr s.o q< nulLn 500
331 41 1 36 !!!gl.lr/h \ulnhrnpf hull -nr hnL drnm q< nulu 5
33141 21 I 9nrlpfrhruodrub uuhhrur huhn. 2url q< hurn 30
33141211 9nilplu.nlnrp tih burhururu h h q< hurm az
33141110 9ut)nlh uulhrlulbtr q< hurm 5000
331 41 1 56 thntrng ilruhFhurqbnb q< nutm qnnn

331 41 300 Chntrng n: rjruhphurqhpb q< nu.lm 3000c
33r 4121 1 Ktr2riurh tftuhdhrn TR I S M E D ilnhfrurnplr hulftun q< num 5
331 41 I 83 Urutrl] urL urtr llhnru\priurh qnh4 6 FG o-/ nurm L00
33141 1 83 Llutr\urhurb lthnru\ptftuh qnh4 7FG q< hur"n 100
331 41 1 83 Uutrhruhrutr L hlur\prftuh q ntr4 8 FG q< hum 400
33141 1 36 UhqrubnFurhurlhtr \ruphtnhp JJ 4.8 Fr g< hr.uur 5
331 41 1 36 ufrqrubnpruhurl|rtr \urphrnhp JJ 6 Fr q< num 20
33141175 Llhqruhun]urp ulurpll o-/ nuu 3000
331 41 1 75 LJhq ruhull urp qrupll ilurh! ru\ ruL q< nuLn 100
33141211 Unhnul ntuurlr SOhlI*fr hurhqml c q< nurm 6
331 41 1 36 [ruurhurnh hnnqh,360 uruur. h/t q< nuLn 100
331 41 1 83 t ruqnqruuurprulqnhrl 12, N14 q< hum 350
331 41 1 83 Lruqnquruuprul qnh4 N 18, N21 +< hutn 350
331 41 1 83 Lruqnqururnpurl qnh4 N6,N7, N8 't< nuLn 350
33141142 10il1 q< nutLn 15000
33141142 Lhfrurt\tr: hI1 q< huLn s000
33141142 t tpurplfh:20il1 o-/ huu 5000
33141142 g< nuu 15000
33141142 Lhnrup\lr> 5r.tt q< hu.rLn 2s000
33141142 60rI1uruh11nr] q< nuLn s00
33141142 Lhfnul\h: 60111 prhp 1np q< hum 50
33141211 L hpZtr:ultrnr[u: hl] iunln{ur\ riruhdhr.nn! N 7, N 7. 5, N q< nuu 250
331 41 21 1 L hp Ztr:turfrnrlu1 hh funrl nq urb rJruhdhurml riruhL tub q< huJm 50
33141211 Lh$nnur.nnrih\ +nhLurd 8-12 Fr q< num 5
33141157 t 2nurFh Eurln N10-N25 g< huun 2000
3317t200 lL)u nu \ uL lu n rln rlulltr bp tr u p ll nqlr h u LIu p LIub ll u ! ub g< nuLn 1n
33171200 lLlurnu\urb lunrlnLlru\L bJr tr ur|\nqfr hurlup ilfrLutr{ug oquruqnpbrlu q< htuLn 50
331 61220 Cul rutnhL rlulurjur n) unhf l q< nuLn 5000
331 41 21 1 truFuhngh Shpuurnnp rfurh!ur\urtr q< hum 5
33141211 'llunutrngh $hpuruunp tlhEurhruuurhh 't<- num 10
33141211 'Il n rlu opu lr r-tb rn F TRjS M ED tf nhf ur n p fr h Lu rf ur p Jtu tr h u ! ur L q< n 3

3141211 tl nLLuopuhdb nn TRTSMED dnhirnnpir hru drup f hbtuhu u u h h q< huur 5
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331 41 21 1 q< hwu 10
33141211 t hpilur2urrli [h\ unu\ urh q< huum 20

33141211 Qhpriu2ullr utrnhtr q< hurm 100

32351 230 O-druurunlhll 18*24 q< nuun 2400
323s1230 t[-durqrur]hh 24*30 g< nuLn 2400
323s] 230 fb-druqrurlhL 30+40 g< huu 1200
32351 230 ft-druqullhh 35*35 +< hwLn 1200

32351 230 fb-druqur{bh 35*43 q< hurLn 1200

32351230

4ururuqurFqlurJF rr 2 [FUluIqFUtuU durulur{hlr
35*43l100 q< hu.rLn 700

331 41 1 43 U\urpfr$fr!ulnnp q< nulu 12000
33141112 Uqtrluhfr !qynr-h p4ph g< nuLn 200
33r41112 Uqhqurhlr \u1ynth !rnnpt q< hurur 1000

33141211 Uqhluhp q< hurm 5

33141118 Uulhnuh urhd.hnnqhLl rIhUurhqurilrru oqrn. q< huum s000

331 41 41 0 Sruppur ilhqfr urfutnnpn2ilurh tlurhphurq hnE q< N|'uLN :10000

33141211 Shuruuiqfr2pnqp q< NUJLN 50

331 21 1 80 Snhnrltrnp rlhfu urhfr\ ru! rub q< huun 50

331 41 1 82 Sfrutnnunrllrll hul] rupru bnr q< num 10

331 21 1 80 Anlub bp up! Lf uL hurfu\upq qbp$nrqnpfr hru Lf up hp\ 150-30ourf q< nuu 50

331 81 1 00 $hf-p qhufrqh'If ru1 nq uupph hturlurp q< nuLn 20

33111140 bgnrpnqpur$h durq urq hb +< huu 3

33141211 brub\ruqur!|r J( hurm 4000

331 41 21 1 qfrqhtn\ru lFOh q< nuLn 200

331 91 31 0 ohhurpf $nrq rlrnp &iuhnp g< hurun 1000

331 91 31 0

tluruurfr\ rfrnp&uhnp 1. 5ri1 \uulrurph:nl
hulhl4np$ rnhulh q< num 1500

331 41 1 41 {ur\nrnurlhhp K 2EDTA q< hum 6000

33141144 Uuhn hhn rl urh nunurrhhnh hunlurn g< hum 10000

33141141 TIt ruur.nhb rhnn&urhnBhLU-h hunirun q< hum s000

331 41 1 82 Onpur\ur1 aphhrud 18-26 +< num L00

33111240 Juq pur\ ru 1 ilhh nnu hur hr.nh h turiurn r000rlL /r q< num r0000

331 1 1 240 Oru;pur\ur1 il|r\pnqfrqhulr hurilrup 200rib/r q< hr.uun 5000

33141211 Unurpll ru1 ur\ urh url urL h q< hu.rLn :t0000

331 41 21 1 Uufr hhrlnrihrnnh qhqhr.nbur 0.02 q< hum 100

331 91 31 0 QnpAurlmp q1ruur.nlr\ d.tlhlf 
"rl

g< huur 2

33141211 q Fu urnfr\ dnq htf hurluunnnur,l urb puntp il hn qLht nt g< hurm 2

331 91 31 0 {ru\ nrr.ntulhhp qh1 nrl }r q< huLn 3000
331 91 31 0 {lu\nru u1 hbp hruup }r gfnnpunnn { q< hum 4000
331 91 31 0 .{ru \nunrul hhp hhq urp}rhnrl q< hutn 3000
331 41 1 82 Ialp*:hlt 4pbtrurd q< num 10
2471t1.80 |aprlubft: q< lunn. d 4500


